P G XN A
@ é? addition av brak (samma nédmnare)

namn: Datum: Poéng:
2 2 1 1

— 4+ - = — 4 — =
8 8 77

2 2 4 4

— 4+ - = -4 — =
3 3 6 6

2 2 1 4

9 9 5 5

3 2 2 1
7 5 5
LR 20l
5 75 3 73
6 4 2 5

8 8 6 6

5 2 3 4
4+ = e
77 5 5

5 1 2 1

Z 4+ - = — 4 - =
9 9 77

1 3 1 1

— 1t = — ==
4 4 2 2
114_;: %4—11:
6 6 4 4
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! v @7 addition av brak (samma nidmnare)

namn: Datum: Poéng:
2 2 1 1 1 2

4+ - =_ 4+ ==

8§ 8 2 7 7

2 2 4 1 4 4 4 1
SyZ=2=12 Sy =_==
3 3 3 3 6 6 3 3
2 2 4 1 4
Sis= —+-=1

9 9 9 5 5

3 2 5 2 1 3

4+ - == 4+ ==

7 7 5 5 5
ML =L

5 5 5 5 3 3

6 4 5 1 2 5 7 1
—F+—-—=—-=1- —+t—-—=—=1-
8 8 4 4 6 6 6 6
5 2 3 4 7 2
—+-=-=1 —+-—==-=1-
77 5 5 5 5
5 1 2 2 1 3

4+ == —_ 4+ _ ==

9 9 3 7 7 7
l+1§—2 14——1-_1

4 4 2 2
11+5—2 3+11—2

6 6 4 4
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